6-2 Geometric Sequences

Objectives:
I can write the recursive and explicit form of a pattern, table,
story, etc.
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1. Describe the pattern that you see in the sequence of figures

above.

Dou\\o\\'f\c:) , 0r M\a\"\’{P\\Jfﬁﬂ by 2

2. Assuming the sequence continues in the same way, how many
dots are there at 5 minytes




3. Write an equatlon to represent the pattern

(0) = _ n
V(ZZC(«\) =2.£ (n-1) =2 (g

4. Make a table of values and graph
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Vocabulary

Geometric: mulhO__j_ ‘0\6 Yhe SOme &Q\Lﬂ
(o\_)lnitial Value: Jhe O&' +erm ) S‘]’Olfh'n% v\

(b) Common Factor: Y\he pumoes Ao o ey bj
Explicit Function: f(n) = O (b>r\

Recursive Function:

L)z £M)=K-£(n~)
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ommon Factor: 2-

Explicit: fln)= 1 (2>ﬂ
Recursive: +(0)= | £(n) - 2. ‘:(V\'D

EX Using the warmr=tp question, build a table:

O (72 %2 g 5
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Initial Value: 8

x(o]1 2 3 4 ‘
Common Factor: /Z

‘ A
Explicit: p (Y\\ - 8 ( / 2)
Recursive:_f (0) = %

yl18/4 2 1 1/2

\/\\7\7\7‘ 'C(V\): ‘/2-[(0—()




Initial Value: 2— O 7 >
Common Factor: 3 n : ° 3
Explicit: £ (n= 2- (%) . 0 >
Recursive: £ (0)= 2 3 54 L>
f(n)= 2-£(n-\)
R 4 162 )
_To- - 5 Commaan 5 486

factor

Find theterm of the sequence
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b= 4 £(20)= 4 (4)

2.748779069€1D X 10"
2 .742 %[O




Find the 25th term of the sequence

23, 6,512, .. 5
VAR H\TW "22(2)
o: s 25
o= 7 \C(ZS) = = 503343

Determine the number of terms in the sequence




Determine the number of terms in the sequence

\J

ZL-IOO: 12
200 2|

EX. Scott decides to add running to his exercise routine and
runs a total of one mile. He plans to double the number of miles
he runs each week.

Initial Value:
Common Factor:

Explicit:

Recursive:

How many miles will he be running by week 5?




Allowance Task:

It's getting close to your 16" birthday and you have been trying to
save some money so you can buy a car. As of now, your efforts
have not brought in very much cash. You have been mowing
lawns and also collecting an allowance from doing chores around
the house. The car you want is $3,000. You have two different
plans to try to get a new car in the next month:

Plan 1) Ask your parents to give you $100 dollars every day you
do chores

Plan 2) Ask your parents for a new allowance where you will do
the dishes every night for 1¢ on the first night, 2¢ on the second
night, 4¢ on the third night, and so on for a whole month.

A) Which plan do you think your parents will agree to?

B) Write an equation for the first plan. How much money will you
earn after 30 days?

C) Write an equation for the second plan. How much money will
you earn after 30 days?
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